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Division (With Remainder)

. 10 apples are shared among 3 children.

Each child gets _ applesand ___ are left.
17 +5=__ remainder ___

Tick the correct answer

14 -4 =
(a) 3R2
(b) 4 R2
(c) 2R3
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19 cupcakes shared among 4 friends
Each gets _ cupcakesand __ are left

Match the division with correct answer

(a) 15+ 4 (i) 5 RO
(b) 20 + 4 (i) 4 R2
(c)14+3 (iii) 3 R3

. 13 chocolates shared among 5 kids.

Each gets __ chocolatesand ___ remain.
Fill in the blanks.

18+7=__ R___

. Group 22 balloons into groups of 5.

You make ___ full groups, _ balloons are left.

Circle the correct one.
25+6=
(a) 4 R1
(b) 3R4
(c) 5RO
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10.29 cookies shared among 4 jars.
Each jar gets  cookiesand __ are left.
11.Show on number line.
Jumps of 4 from 0 to 17.
How many full jumps?
Remainder=___
12.16 marbles shared among 3 kids.
Each gets  marbles,  marbles remain.

13.Tick all correct

(a)22+7=3R1 )
(b) 19 + 6 = 3 R1 C]
(c) 14 +5=2R3 C]

14.31 students sit in vans with 6 seats each vans full, students wait.

15.Draw and divide

Draw 11 stars (%) and group in 4s
How many groups?

Leftover stars?
16.Fill in the blanks
9+2=__ R___
17.20 watermelons placed in crates of 3

Full crates =

Left with=__
18.Choose the correct match
23+5=
(a)4R3
(b) 3R2
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(c) 5RO




